
Name: LösungsschlüsselVerstehen des 'Gleich'-Zeichens

Mathe www.CommonCoreSheets.de 8 1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

Antworten

1. falsch

2. wahr

3. falsch

4. wahr

5. wahr

6. falsch

7. falsch

8. wahr

9. wahr

10. falsch

11. falsch

12. wahr

13. falsch

14. wahr

15. wahr

16. falsch

17. falsch

18. wahr

Bestimme, ob die Gleichung 'wahr' oder 'falsch' ist.

1) 17 = 3

2) 9 - 5 = 4 4 = 4

3) 14 - 4 = 7 10 = 7

4) 5 + 6 = 11 11 = 11

5) 9 = 6 + 3 9 = 9

6) 13 = 3 + 8 13 = 11

7) 3 + 9 = 14 12 = 14

8) 9 + 9 = 8 + 10 18 = 18

9) 7 + 8 = 8 + 7 15 = 15

10) 5 + 4 = 4 + 6 9 = 10

11) 5 + 7 = 5 + 5 12 = 10

12) 6 - 3 = 9 - 6 3 = 3

13) 12 - 5 = 10 - 8 7 = 2

14) 5 + 3 = 20 - 12 8 = 8

15) 19 - 8 = 6 + 5 11 = 11

16) 6 + 6 = 18 - 7 12 = 11

17) 11 - 4 = 3 + 5 7 = 8

18) 6 + 6 = 12 12 = 12
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